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����� 4 
 

����	�
��� 
 

����	�
������ 1 
������������������������	�	������������ 
 

����		�
��
�
����
���������������� (Growing Degree Day: GDD) ���������!���"�

	�
�#$%�	�
�%&���� ����������������������!��	�
�#$%�	�
�%&�����������������' *'�+	� �#%,�-

������7 .'
�������������������!��	�
�#$%�	�
�%&��������	#� 105.36 ��2��4��4�
� ���%�������

�"���!��	�
�#$%�	�
�%&������������8�9���' *'�+	� �#%,�-������ 2 .'
�������������������!��	�


�#$%�	�
�%&��������	#� 91.56 ��2��4��4�
� (8�
����� 1) 

 
��	����� 1 �����������������������%	�
�
�	=���%&���� 
  

 !�"�# 
�������������� (��$�%&�%&�'�) 
PGMHS 17 99.87 

PGMHS 15 100.09 

PGMHS 13 101.39 

PGMHS 12 97.30 

PGMHS 11 100.95 

PGMHS 7 99.62 

PGMHS 3 98.08 

������ 1  105.24 

������ 2 91.56 

������ 4 99.03 

������ 7 105.36 

������ 8 104.25 
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��	�
������ 2 	�'� !(����	)��)��* 
 

��		�
�#��	8
�
��#$%�	�
����#��#%,-	#���������������� (8�
����� 2 +�� 3) ���������

��	�#%,�-��
�
�����	�
��	+	�����	�����
�	#% .'
�������������������	
�
�8�%	����%@&�
�
���	

+	�������������������A���
����	#� 1,897 ��2��4��4�
� 4&����'��C%�9�%�%�#%����	#� 105 �#%��#�

���	 %�	��	%#E%
�
��#$%�	�
����#��	8���������	�#%,�-	F�
���%"�������	�����
�	#% *'�+	� 
�
�

�
���+8		�������	�#%,�-8���	�
�������������A���
����	#� 498 ��2��4��4�
� ���
�����	#� 27 �#%

��#����	 �%���%
�
�	9��%�'"��'�	�����������	�#%,�-�"��������������A���
����	#� 953         

��2��4��4�
� �"�
�
��������
�����	#� 51 �#%��#����	 �9��
#��%
�
�8#E����� (booting) �����

�����#%,�-������ 1 ������ 7 ������ 8 PGMHS 3 PGMHS 7 PGMHS 11 PGMHS 12 PGMHS 13 

PGMHS 15 PGMHS 17 �"��������������A���
����	#� 1,265 ��2��4��4�
� 4&��	�
2&	I��
#E�%�E

���
�����	#� 68 �#%��#����	 ���%�����#%,�-������ 2 +�������� 4 �"����������������%��
	����A���


����	#� 1,143 ��2��4��4�
� ���
�����	#� 59 �#%��#����	 ���%�%
�
���	
������
@+����#%,�-

������	��C% 2 	���� 8��
�
��#$%�	�
����#��#%,-	#���������������� ������#%,�-����	������� 1 

*'�+	��#%,�-������ 1 ������ 2 PGMHS 3 PGMHS 7 PGMHS 11 +��PGMHS 12 8���	�
��������

�����A���
����	#� 1,435 ��2��4��4�
� ���
�����	#� 77 �#%��#����	 ���%�#%,�-����	������� 2*'�+	�

�#%,�-������ 4 ������ 7 ������ 8 PGMHS 13 PGMHS 15 +��PGMHS 17 �"��������������A���


����	#� 1,368 ��2��4��4�
� ���
�����	#� 73 �#%��#����	 4&����'�����	#���������������� 
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)�������	%+	�,%���-� 
 
+.��*�*!�)����	�����/.���!�0��� 
 
 +.��*�*!������/.���!�0���)����������
 
 ��	��	�
����
���-����+�
�
�%����@�8� (Analysis of variance) (8�
����� 4) ����
@

�,���
*'�����9�%�%�#%����%E9��%#	+��������'���8�%
�������#%,�- *��������+8	8���	#%�
���    

��%#
�9��#K����@�8�.'
������	�#%,�-���9�%�%�#%����%E9��%#	+��������'���8�%�A���
����	#� 92 �#%

��#����	 

 

 +.��*�*!������/.���!�0���)���������
 
 ��	��	�
����
���-����+�
�
�%����@�8� (Analysis of variance) (8�
����� 4) +�'����

��F%����9�%�%�#%����%E9��%#	+��������'�����
�������#%,�- *��������+8	8���	#%�
�����

%#
�9��#K����@�8� .'
������	�#%,�-���9�%�%�#%����%E9��%#	+��������'������A���
����	#� 85 �#%

��#����	 

 

 +.��*�*!������/.���!�0���	*� (���0����) �����
 
 ��	��	�
����
���-����+�
�
�%����@�8� (Analysis of variance) (8�
����� 4) 	����*'�

����9�%�%�#%����%E9��%#	+��������'���8�%+����
�������#%,�- *��������+8	8���	#%�
���           

��%#
�9��#K����@�8�  .'
������	�#%,�-���9�%�%�#%����%E9��%#	+������8�%+���������'           

�A���
����	#� 89 �#%��#����	 

 

��	����� 4 ��	�
����
���-����+�
�
�%���	�
��
�K�8��.8���8�% �� ������� 

 

+��������+�
�
�% �%.�#%���� %%. �%.�#%���� %%. �%.�#%���� %%. 

 8�%�����' �������' 8�%+���������' 

�#%,�- ns ns ns 

CV% 9.46 8.47 5.92 

ns = *��������+8	8���	#%����@�8�   
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�/.���!�0��������
 
 

�/.���!�0�������)����������
 
��	��	�
����
���-����+�
�
�%����@�8� (Analysis of variance) (8�
����� 5) +�'����

��F%���%E9��%#	+������������'���8�%
�������#%,�- ������+8	8���	#%�
�����%#
�9��#K����@�8� 

(P� 0.05) .'
�#%,�-������ 7 PGMHS 7 +�������� 1 �����%E9��%#	+����������8�%�����'            

�A���
����	#� 29.91 	
#�8��	� ���%�#%,�-���������A���
%E9��%#	+����������8�%�����'����
���%       


�'#�8�9���' *'�+	� �#%,�-������ 8 PGMHS 12 ������ 2 PGMHS 11 +��PGMHS 13 .'
������A���


����	#� 20.30 	
#�8��	� (������ 2) 

  
 

�/.���!�0�������)���������
 
 ��		�
����
���-����+�
�
�%����@�8� (Analysis of variance) (8�
����� 5) �����         

%E9��%#	+������������'�����
�������#%,�-  ������+8	8���	#%�
�����%#
�9��#K����@�8�          

(P� 0.01) .'
�����#%,�-������ 1 +��PGMHS 7 �����%E9��%#	+�����������������'�A���
 ����	#� 

19.60 	
#�8��	� ���%�#%,�-������ 7 PGMHS 17 PGMHS 3 ������ 4 +��PGMHS 15 ������A���
   

%E9��%#	+�����������������'�A���
����	#� 15.34 	
#�8��	� 4&����		����#%,�- PGMHS 11 

PGMHS 12 +�������� 8 ������A���
%E9��%#	+�����������������'�A���
����	#� 13.37 	
#�8��	� 

+���#%,�- PGMHS 13 +�������� 2 ������A���
%E9��%#	+�����������������'����
���%
�'#�8�9�         

��'�A���
����	#� 10.80 	
#�8��	� (������ 3) 

 

 

 �/.���!�0�������	*� (���0����) �����
 
 ��		�
����
���-����+�
�
�%����@�8� (Analysis of variance) (8�
����� 5) +�'����

��F%���%E9��%#	+������������'���8�%+����
�������#%,�- ������+8	8���	#%�
�����%#
�9��#K���

�@�8� (P�0.05) 4&�������#%,�- PGMHS 7 ������ 1 +�������� 7 �����%E9��%#	+����������8�%      

+���� �����'�A���
����	#� 49.21 	
#�8��	� +�������#%,�-������ 2 ������ 8 PGMHS 13 ������A���


%E9��%#	+����������8�%+���������'����
���%
�'#�8�9���'�A���
����	#� 32.73 	
#�8��	� (������ 4) 
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�������� 5 (�����'������"���&)*�*���
��������&��������)���
����� �� 
��
��� 

 
+��������+�
�
�% %E9��%#	+���8�% %E9��%#	+����� %E9��%#	+���8�%+���� 

 �����' �����' �����' 

�#%,�- * ** * 

CV% 19.1 13.91 16.51 

*   = ������+8	8���	#%�
�����%#
�9��#K����@�8� ( P � 0.05 )  

**  = ������+8	8���	#%�
�����%#
�9��#K����@�8� ( P � 0.01 )  
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�� ��� 2 %E9��%#	+����������8�%�����'���������	�#%,�- 
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�� ��� 3 %E9��%#	+�����������������'���������	�#%,�- 
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�� ��� 4 %E9��%#	+�������
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 �*!���	�����/.���!�0���)����� 
 ��		�
2&	I����#8���	�
����%E9��%#	+������8�% .'
�#��*�+��������������	�#%,�-��


��+�����#8	�
����%E9��%#	+����������
	#% 	�����!���+%�.%��������&E%���%E9��%#	+���       

�
���8���%!���8��
�
��������	�
��
�K�8��.8���8�%���� .'
	
�R���*'���		�
2&	I����#8���

8�% �����#	I����C%���%.���
��8#� S .'
�%
�
�+
	���	�
��
�K�8��.8	�
����%E9��%#	      

+������8�%����C%*��
���"��T +��������&E%�
���
�'�
F���C%���%8
� ���"�
�
�����%�%�%
�
�%�E 

+�������
T�'���
���8���%!�������
@+����#%,�-������	��C% 3 	���� .'
	������� 1 �
�����	
�
�

�
���+8		��%@&�
�
�8#E�����.'
	������� 1 �"�
�
�����%��
��' (83 �#%��#����	) *'�+	� �����#%,�-

PGMHS 11 ������ 1 +���#%,�-������ 4 (������ 5) 	������� 2 �
�����	
�
�+8		��%@&�
�
�8#E����� 

�"�
�
�������%	��� (90 �#%��#����	) *'�+	� �����#%,�- PGMHS 3 PGMHS 7 PGMHS 12   

PGMHS 13 ������ 2 +�������� 8 (������ 6) +��	������� 3 �
�����	
�
��
���+8		��%@&�
�
���	


�� �"�
�
�����%�%�����' (98 �#%��#����	) *'�+	� �����#%,�- PGMHS 15 PGMHS 17 +�������� 7 

(������ 7) ��#���	%#E%	�
����%E9��%#	+������8�%���'��  
 

������ PGMHS11

y = -0.0002x3 + 0.0346x2 - 1.2398x + 11.122
R2 = 0.9459
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�� ��� 5 ���#8	�
����%E9��%#	+���8�% 	������� 1 (�#%,�- PGMHS 11) 
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������ PGMHS3

y = -0.0002x3 + 0.0264x2 - 0.8714x + 7.2191
R2 = 0.9833
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�� ��� 6 ���#8	�
����%E9��%#	+���8�% 	������� 2 (�#%,�- PGMHS 3) 

 
 

������ ���	��7

y = -0.0002x3 + 0.0308x2 - 1.1329x + 9.6115
R2 = 0.9891
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 �*!���	�����/.���!�0���)���� 
 ��		�
2&	I����#8���	�
����%E9��%#	+�������� .'
�#��*�+��������������	�#%,�-��


��+�����#8	�
����%E9��%#	+����������
	#% 	�����!���+%�.%��������&E%���%E9��%#	+���           

�
���8���%!���8��
�
��������	�
��
�K�8��.8��������� .'
	
�R���*'���		�
2&	I����#8���

�� �����#	I����C%���%.���
��8#� S .'
�%
�
�+
	���	�
��
�K�8��.8	�
����%E9��%#	      

+������������C%*��
���"��T +����������&E%�
���8���%!�����C%���%8
� 
��+���	����������
��	���� )��
����	��,���	��������-�����&��.)������ !"
�������*/� 3 ��!�& 	������� 1 �
�����	


�
��
���+8		�@&�
�
�8#E�����.'
	������� 1 �"�
�
�����%��
��' (81 �#%��#����	) *'�+	� �����#%,�-

������ 2 +�������� 4 (������ 8) 	������� 2 �
�����	
�
��
���+8		��%@&�
�
���	
�� �"�
�
�����

��%	��� (86 �#%��#����	) *'�+	� �����#%,�- PGMHS 7 PGMHS 11 PGMHS 12 PGMHS 13 

PGMHS 17 ������ 1 ������ 7 +�������� 8 (������ 9) +��	������� 3 �
�����	
�
��
���+8		�@&�


�
���	
�� �"�
�
�����%�%�����' (89 �#%��#����	) *'�+	� �����#%,�- PGMHS 3 +��PGMHS 15     

(������ 10) ��#���	%#E%	�
����%E9��%#	+�����������'�� 

 

 

������ ���	��2

y = -5E-05x3 + 0.006x2 - 0.0539x - 0.5919
R2 = 0.9227
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�� ��� 8 ���#8	�
����%E9��%#	+����� 	������� 1 (�#%,�-������ 2) 
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������ PGMHS17

y = -1E-04x3 + 0.0151x2 - 0.4365x + 3.206
R2 = 0.9931
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�� ��� 9 ���#8	�
����%E9��%#	+����� 	������� 2 (�#%,�- PGMHS 17) 

 
 

������ PGMHS3

y = -0.0001x3 + 0.0169x2 - 0.5005x + 4.0933
R2 = 0.9872
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�� ��� 10 ���#8	�
����%E9��%#	+����� 	������� 3 (�#%,�- PGMHS 3) 
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 �*!���	�����/.���!�0���)�����0���� 
 ��		�
2&	I����#8���	�
����%E9��%#	+������8�%+���� .'
�#��*�+������������   

��	�#%,�-�� 
��+�����#8	�
����%E9 ��%#	+��������� �
	#%  	�� ���!���+%�.%��������&E%                   

���%E9��%#	+����
���8���%!���8��
�
��������	�
��
�K�8��.8���8�%+���� .'
	
�R���*'�          

��		�
2&	I����#8���8�%+���� �����#	I����C%���%.���
��8#� S .'
�%
�
�+
	���	�


��
�K�8��.8	�
����%E9��%#	+������8�%+��������C%*��
���"��T +����������&E%�
���
�'�
F�      

��C%���%8
� ���"�����%�%�%
�
�%�E +�������
T�'���
���8���%!�������
@+����#%,�-����

��	��C% 3 	���� .'
	������� 1 �
�����	
�
��
���+8		��%@&�
�
�8#E�����.'
	������� 1 �"�
�
�����

%��
��' (86 �#%��#����	) *'�+	� �����#%,�- PGMHS 7 PGMHS 12 PGMHS 13 ������ 2 ������ 7 

+�������� 1 (������ 11) 	������� 2 �
�����	
�
��
���+8		�@&�
�
���	
�� �"�
�
�������%	���         

(91 �#%��#����	) *'�+	� �����#%,�- PGMHS 3 PGMHS 11 ������ 4 +�������� 8 (������ 12) +��        

	������� 3 �
�����	
�
��
���+8		��%@&�
�
���	
�� �"�
�
�����%�%�����' (98 �#%��#����	) 

*'�+	� �����#%,�- PGMHS 15 +��PGMHS 17 (������ 13) ��#���	%#E%	�
����%E9��%#	+������8�%               

+�������'��   

 

������ PGMHS12

y = -0.0002x3 + 0.0395x2 - 1.3665x + 11.74
R2 = 0.9669
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�� ��� 11 ���#8	�
����%E9��%#	+���8�%+���� 	������� 1 (�#%,�- PGMHS 12) 
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������ PGMHS3

y = -0.0002x3 + 0.0319x2 - 0.7218x + 7.581
R2 = 0.993
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�� ��� 12 ���#8	�
����%E9��%#	+���8�%+���� 	������� 2 (�#%,�- PGMHS 3) 

 

 

������ PGMHS17

y = -0.0002x3 + 0.0352x2 - 1.1306x + 9.0518
R2 = 0.9955
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�� ��� 13 ���#8	�
����%E9��%#	+���8�%+���� 	������� 3 (�#%,�- PGMHS 17) 
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�!�	���	�����/.���!�0���%1���' 
 
 �!�	���	�����/.���!�0���%1���')����� 
 ��	��	�
����
���-����+�
�
�%����@�8� (Analysis of variance) (8�
����� 6) +�'����

��F%����#8
�	�
����%E9 ��%#	+����A���
���8�%������� ������+8	8���	#%�
�����%#
                 

�9��#K����@�8� (P � 0.01) 
���������� .'
�����#%,�-������ 7 ������ 1 +��PGMHS 7 ���#8
�	�


����%E9��%#	+����A���
���8�%�����'����	#� 0.32 	
#�8��	�8���#% 
�������!��#%,�-������ 4 +��

PGMHS 3 ������#8
�	�
����%E9��%#	+����A���
���8�%����	#� 0.27 	
#�8��	�8���#% ���%�����#%,�-

PGMHS 17 PGMHS 11 ������ 8 PGMHS 15 ������ 2 +��PGMHS 13 ���#8
�	�
����%E9��%#	    

+����A���
���8�%����	#� 0.23 	
#�8��	�8���#% +�������#%,�-PGMHS 12 ���#8
�	�
����        

%E9��%#	+����A���
���8�%8�9���'����	#� 0.20 	
#�8��	�8���#% (������ 14) 

 

 �!�	���	�����/.���!�0���%1���')���� 
 ��	��	�
����
���-����+�
�
�%����@�8� (Analysis of variance) (8�
����� 6) �����

�#8
�	�
����%E9��%#	+����A���
������������ ������+8	8���	#%�
�����%#
�9��#K����@�8�        

(P � 0.01) 
�������#%,�-���� 4&������������#%,�-������1 ���#8
�	�
����%E9��%#	+����A���
�����     

�����'����	#� 0.26 	
#�8��	�8���#% 
�������!��#%,�-PGMHS 7 ���#8
�	�
����%E9��%#	+��� 

�A���
���������	#� 0.20 	
#�8��	�8���#% +���#%,�-������ 2 ���#8
�	�
����%E9��%#	+����A���
 

�����8�9���'����	#� 0.12 	
#�8��	�8���#% (������ 15) 

 
 �!�	���	�����/.���!�0���%1���'	*�(���0����) 
 ��	��	�
����
���-����+�
�
�%����@�8� (Analysis of variance) (8�
����� 6) �,���
*'�

����#8
�	�
����%E9��%#	+����A���
���8�%+����������� ������+8	8���	#%�
�����%#
�9��#K       

����@�8� (P � 0.01) 
�������#%,�-���� .'
����������#%,�-PGMHS 7 +�������� 1 ������#8
�	�


����%E9��%#	+����A���
���8�%+���������'����	#� 0.59 	
#�8��	�8���#% 
�������!��#%,�-        

������ 7 PGMHS 3 +�������� 4 ������#8
�	�
����%E9��%#	+����A���
���8�%+��������	#� 0.48 

	
#�8��	�8���#% +���#%,�-PGMHS 13 ���#8
�	�
����%E9��%#	+����A���
���8�%+����8�9���'         

����	#� 0.34 	
#�8��	�8���#% (������ 16) 
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��	����� 6 ��	�
����
���-����+�
�
�%����#8
�	�
����%E9��%#	+����A���
��� 8�% �� ����

������	�#%,�- 

 

+��������+�
�
�% �#8
�	�
���� �#8
�	�
���� �#8
�	�
���� 

  %%.+���8�%�A���
 %%.+������A���
 

%%.8�%+����

�A���
 

�#%,�- ** ** ** 

CV% 16.40 12.23 14.29 

**  = ������+8	8���	#%�
�����%#
�9��#K����@�8� ( P � 0.01 )  

 

 

  

 

0

0.1

0.2

0.3

0.4

0.5

��
���
�7

��
���
�1

PGMHS7

��
���
�4

PGMHS3

PGMHS1
7

PGMHS1
1

��
���
�8

PGMHS1
5

��
���
�2

PGMHS1
3

PGMHS1
2

������

�
��	

�
��

�

��

��

LSD(0.05) = 0.072

 a  a  a
ab

abc
bcbc

bcbcbcbc

c

 
 
�� ��� 14 �#8
�	�
����%E9��%#	+����A���
���8�%���� 
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�� ��� 15 �#8
�	�
����%E9��%#	+����A���
��������� 
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�� ��� 16 �#8
�	�
����%E9��%#	+����A���
���8�%+�������� 
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������0����
#�	���������� 
 

 +.��*��������� 
 ��	��	�
����
���-����+�
�
�%����@�8� (Analysis of variance) (8�
����� 7) +�'����

��F%����9�%�%8�%8��	�����#%,�-���� *��������+8	8���	#%�
�����%#
�9��#K����@�8� .'
������	

�#%,�-���9�%�%8�%8��	�.'
�A���
����	#� 13 8�% 

 

 +.��*�	*������ 
 ��	��	�
����
���-����+�
�
�%����@�8� (Analysis of variance) (8�
����� 7) +�'����

��F%����9�%�%
��8��	�����#%,�-���� *��������+8	8���	#%�
�����%#
�9��#K����@�8� .'
������	

�#%,�-���9�%�%
��8��	�.'
�A���
����	#� 11 
�� 

 

 +.��*�%��2

����	*� 
 ��	��	�
����
���-����+�
�
�%����@�8� (Analysis of variance) (8�
����� 7) +�'����

��F%����9�%�%���F''�8��
������#%,�-���� *��������+8	8���	#%�
�����%#
�9��#K����@�8� .'
����

��	�#%,�-������A���
�9�%�%���F''�8��
������	#� 92 ���F' 

 

 +.��*�%��2
������	*� 
 ��	��	�
����
���-����+�
�
�%����@�8� (Analysis of variance) (8�
����� 7) +�'����

��F%����9�%�%���F'���8��
������#%,�-���� *��������+8	8���	#%�
�����%#
�9��#K
�������@�8� .'


������	�#%,�-������A���
�9�%�%���F'���8��
������	#� 29 ���F' 

 

�/.���!� 1,000 %��2
 
 ��	��	�
����
���-����+�
�
�%����@�8� (Analysis of variance) (8�
����� 7) +�'����

��F%���%E9��%#	 1,000 ���F' ������+8	8���	#%�
�����%#
�9��#K����@�8� 
�������#%,�-����              

(P � 0.05) .'
�����#%,�-������ 4 +��PGMHS 17 ��%E9��%#	 1,000 ���F'.'
�A���
�����' 34 	
#� 

���%�����#%,�-������ 2 PGMHS 7 ������ 8 +��PGMHS 13 ��%E9��%#	 1,000 ���F'.'
�A���
 31 	
#� 

+�������#%,�-������ 7 +��PGMHS 11 ��%E9��%#	 1,000 ���F'.'
�A���
8�9���'����	#� 29.20 	
#�

8���9�'#� (������ 17) 
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������ 
 ��		�
����
���-����+�
�
�%����@�8� (Analysis of variance) (8�
����� 7) �����

�����8 ������+8	8���	#%�
�����%#
�9��#K����@�8�
�������#%,�- (P � 0.05) .'
�����#%,�- 

PGMHS 17 +��PGMHS 3��������8��	�����'.'
�A���
 439.46 	�.�	
#�8��*
� +���#%,�-����������

�����8�A���

�������!��#%,�-������ 8 ������ 7 PGMHS 7 PGMHS 13 +�������� 1 .'
���

�����8�A���
����	#� 342.40 	�.�	
#�8��*
� 4&����		����#%,�-PGMHS 12 PGMHS 11 ������ 2       

������ 4 +��PGMHS 15 �����������8�A���
����	#� 243.73 	�.�	
#�8��*
� (������ 18) 

 

 
��
!���%�2�%���'* 
 ��	��	�
����
���-����+�
�
�%����@�8� (Analysis of variance) (8�
����� 7) +�'����

��F%���'#"%��	F��	��
�������� ������+8	8���	#%�
�����%#
�9��#K����@�8� (P � 0.05) .'
�#%,�- 

PGMHS 17 ������ 4 ������ 7 ������ 8 +��PGMHS 3 .'
�����'#"%��	F��	��
��A���
����	#� 0.34 

���%�#%,�- PGMHS 7 PGMHS 11 PGMHS 13 PGMHS 12 ������ 1 ������ 2 +��PGMHS 15 ��

'#"%��	F��	��
�.'
�A���
8�9���' 0.27 (������ 19) 

 

 

�������� 7 ��	�
����
���-����+�
�
�%������-�
�	�������8+�������8������� 

 

+��������

+�
�
�% 
8�%8��	� 


��8��

	� 

���F''�

8��
�� 

���F'

���8��


�� 

%.%.1000

���F' 
�����8 

'#"%��	F�

�	��
� 

�#%,�- ns ns ns ns * * * 

CV% 16.45 17.55 18.85 45.71 5.76 26.41 14.92 

ns = *��������+8	8���	#%����@�8� 

*   = ������+8	8���	#%�
�����%#
�9��#K����@�8� ( P � 0.05 ) 
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�� ��� 19 ���'#"%�	�
�	F��	��
�������� 

 

 
 

�	
��
���
������������� 

 

��������������� 

������'������"���&)*�*�������.'�' (Analysis of variance) (�������� 8) �����

*�'&���
���&�0, &����&)����������	���&���	�����1����.'�' (P � 0.01) 2,	*�'&���
���&�0,

������ !" PGMHS 7 )�����&'� 8 &�*�'&���
���&�0,�%��!, 2,	&���������	������� 179.33 �%���3�"
&'��'�&�� 45��&��������� !" PGMHS 17 PGMHS 15 )��PGMHS 12 &�*�'&���
���&�0,�����	
������� 164 �%���3�"&'��'�&�� )��*�'&���
���&�0,
��
������ !"���&'� 1 ���&'� 7 )��     

PGMHS 11 &�*�'&���
���&�0,�����	�����!,45��&����������� 141.03 �%���3�"&'��'�&�� ($����� 20)  
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������������������ 

��(�����'������"���&)*�*�������.'�' (Analysis of variance) (�������� 8) )�,����

��0�����-�����('�
���&�0,
��
��� &����&)����������	���&���	�����1����.'�' (P � 0.01) .'
�!E%���

���������F'�����#%,�- PGMHS 7 +��PGMHS 17 ������A���
����!E%������������F'�����'����	#� 

140.40 8�
���������8
 
�������!��#%,�- PGMHS 15 ������ 4 +��PGMHS 3 4&��������A���
���

�!E%���������F'�A���
����	#� 135.48 8�
���������8
 4&����		��������#%,�-������ 1 +�������� 2 4&����

����A���
����!E%������������F'�A���
����	#� 128.65 8�
���������8
 +���!E%������������F'�������

�#%,�- PGMHS 11 +�������� 7 ���!E%������������F'�A���
8�9���'4&�����������	#� 110.22 8�
��

�������8
 (������ 21) 

 


*�����0���)��%��2
 

��	��	�
����
���-����+�
�
�%����@�8� (Analysis of variance) (�������� 8) 	����*'�

��������%�+%�%������F'���� ������+8	8���	#%�
�����%#
�9��#K����@�8� (P � 0.01) .'
����

�%�+%�%������F'�������	�����
�	#%�!��#%,�- ������ 4 4&������������%�+%�%�A���
�����'����	#� 

0.000219 	
#�8����	��2	-�������8
 
�������!��#%,�- PGMHS 11 ������ 7 ������ 1 PGMHS 17 

PGMHS 3 +��PGMHS 12 �����%�+%�%������F'�A���
����	#� 0.000205 	
#�8����	��2	-

�������8
 +�������%�+%�%������F'�����#%,�- ������ 8 ������ 2 +��PGMHS 7 ������

�%�+%�%������F'�A���
8�9���'4&�����������	#� 0.000174 	
#�8����	��2	-�������8
 (������ 22) 

 


*��0)2�)��%��2
 
��	��	�
����
���-����+�
�
�%����@�8� (Analysis of variance) (8�
����� 8) ����
@

�,���
*'��������+�F�������F'���� ������+8	8���	#%�
�����%#
�9��#K����@�8� (P � 0.01) 


�������#%,�-���� 4&�������#%,�- PGMHS 3 ������ 4 +�������� 7 ������+�F�������F'�A���
�����'

����	#� 77.92 %��8#%8��8�
���4%8���8
 
������*'�+	������#%,�-  PGMHS 15 +�������� 1 �����

����+�F�������F'�A���
����	#� 73.67  %��8#%8��8�
���4%8���8
 ���%�����#%,�- PGMHS 7 +��

PGMHS 11 ������+�F�������F'�A���
����	#� 70.91 %��8#%8��8�
���4%8���8
 +�������#%,�-         

������8 ������+�F�������F'8�9���'����	#� 58.37 %��8#%8��8�
���4%8���8
 (������ 23) 
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��	����� 8 ��	�
����
���-����+�
�
�%����#	I�����	�
���������F'���� 

 

+��������+�
�
�% �
���8
 �!E%������ 
����

�%�+%�% 
����+�F� 

�#%,�-  ** ** ** ** 

CV%  4.97 5.3 6.11 3.05 

**  = ������+8	8���	#%�
�����%#
�9��#K����@�8� ( P � 0.01 )   
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)������!�3����� 4�5	� 
 

*�����)����� 

��(�����'������"���&)*�*�������.'�' (Analysis of variance) (�������� 9) )�,����

��0�������&�%�
�����
��� &����&)����������	���&���	�����1����.'�' (P � 0.01) ���������� !"

��� 45��
������ !" PGMHS 7 )��PGMHS 3 &����&�%�
�����&������!,������� 120.15 �4��'�&�� 

�����&�6,�)����� !" ���&'� 2 )��PGMHS 12 &���������	������� 114.28 �4��'�&�� )����� !"         
���&'� 8 &�������&�%������	���	����!,������� 101 �4��'�&�� ($����� 24) 

 


*��'�*	*� 
 
��(�����'������"���&)*�*�������.'�' (Analysis of variance) (�������� 9) )�,����
��0�������&	����� &����&)����������	���&���	�����1����.'�' (P � 0.05) ���������� !"
��� 45��

������ !" ���&'� 1 )��PGMHS 3 &����&	�����&������!,������� 30.53 �4��'�&�� �����&�6,�)��
��� !" PGMHS 17 PGMHS 15 )�����&'� 4 &���������	������� 28.83 �4��'�&�� ������� !"���&'� 2 

)��PGMHS 13 &�������&	����������	���	����!,������� 24 �4��'�&�� ($����� 25) 
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����������� !��"#�#$�%��#��
�
&����� (Heading stage) 

��(�����'������"���&)*�*�������.'�' (Analysis of variance) (�������� 9) �����

*�'&�#���2�78��"��
�������	������� 6&�&����&)����������	���&���	�����1����.'�' 2,	
���
�!���� !"&�*�'&�#���2�78��"����
�������	�)����������	������� 43.75 &'��'���&������&       

���������, 

 

�������� 9 (�����'������"���&)*�*���
�����&�%�
����� ���&	����� )��*�'&�#
���2�78��"����
�������	�)����� 

 

+��������+�
�
�% ������� ����
��
�� �
�������.
RU��-�%��,� 

      (
�
�+��
��) 

�#%,�- ** * ns 

CV% 4.64 7.24 4.6 

ns =*��������+8	8���	#%����@�8�    
* = ������+8	8���	#%�
�����%#
�9��#K����@�8� (P � 0.05)   
** = ������+8	8���	#%�
�����%#
�9��#K����@�8� (P � 0.01)   
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������ 25 ���&	�����
��
��� 

 

 

���	����
��'
'�������'����

�$ (������	��)������%� 
 
 
�������
��������&*�'&�#79���'���&�����&,
��
����!���� !"����+������35�:�&�
���:#��*/� 2nd Order Polynomial &����:#����7���	
5�� 45�����:#�2,	����6*�����6,���� ��� !"

����!���� !" &�)��2��&
��������&*�'&�#79���'���&�����&,
������,�� ��&��	�����
��
����
�'1��'�2� 2,	����	�)��
������
�'1��'�2� ������&*�'&�#79���'���&�����&,
��
���
�&���*�'&�#&������	�������� )��
�&�*�'&�#79���'���&�����&,�,������)����	�)��
��
�.5���	������',+��,�� 45���	%�$�	����	����� 12-41 �������*�%� )��
������*�'&�#           

79���'���&�����&, 
����	���'�&
5���	��������-��� )������)�� 42 �������*�%� ������&*�'&�#     

79���'���&�����&,
�����&�)��2��&�����'�&
5�����6*
�.5���	������� 2,	
����!���� !"&�
)��2��&���:#�
�������
��*�'&�#79���'���&�����&,���&�������	��5����
��
������� 12 

��� !" 2,	
�&����:#�,��)�,���$����� 26  
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y = 0.0075x2 - 0.6156x + 30.735
R2 = 0.9812
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������ 26 ������&*�'&�#���*�����79���'�$�	�����
������ !" PGMHS 12 

 

 

 

���	����
��'
'�������'����

�$ (��������#$ 

 

 
�������
��������&*�'&�#79���'���&�����&,
��
����!���� !"����+������35�:� &�
���:#��*/� 2nd Order Polynomial &����:#����7������� 45�����:#�2,	����6*�����6,���� ��� !"   

����!���� !"&�)��2��&
��������&*�'&�#79���'���&�����&,
������'�&
5�� ��&��	�����
��
����
�'1��'�2� 2,	����	�)��
������
�'1��'�2� ������&*�'&�#79���'���&�����&,
��
�� 
�&������'�&
5���	��������-��� ����)����	�)����
�.5���	������',+��,�� �+���	����������
���&�%��!, ����	����� 12-51 �������*�%� 
������)��2��&
��������&*�'&�#79���'���&
�����&,
����
��,���	��������-��� 
����	������',+��,��
�.5���	������� �+���	����� 55-

79 �������*�%� 2,	
����!���� !"&�)��2��&���:#�
�������
��*�'&�#79���'���&�����&,
���&�������	��5����
��
������� 12 ��� !" 2,	
�&����:#�,��)�,���$����� 27 
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������ PGMHS 12 y = -0.0197x2 + 2.0458x + 70.513
R2 = 0.4418
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������ 27 ������&*�'&�#���*�����79���'�$�	����
������ !" PGMHS 12 

 
�	����67����
�!/���
��%��2
)��)��*%���'*��.����	�'����0������	�	�)��)��* 
 

��	��	�
����
���-����+�
�
�%����@�8�(Analysis of variance) (8�
����� 10)  �����

�
����RW%����
���#E���'�����'������F' ������+8	8���	#%�
�����%#
�9��#K����@�8�
������

�#%,�- (P� 0.01) .'
�����#%,�- PGMHS 15 ���
����RW%����
���#E���'�����'����	#� 103.26 

�����	
#������
-���+	���	+�4�' 8�� �������8
�����
�	#'��,�%�� 8�� 1 	
#�������� 


������*'�+	��#%,�-������ 1 4&�����
��������	#� 86.62 �����	
#������
-���+	���	+�4�' 8�� 

�������8
�����
�	#'��,�%�� 8�� 1 	
#�������� 4&����		����#%,�- PGMHS 3 ���
��������	#� 

62.80 �����	
#������
-���+	���	+�4�' 8�� �������8
�����
�	#'��,�%�� 8�� 1 	
#�������� 

���%�����#%,�- PGMHS 11 +�������� 4 ���������
����RW%�����A���
����	#� 56.80 �����	
#�

�����
-���+	���	+�4�' 8�� �������8
�����
�	#'��,�%�� 8�� 1 	
#�������� 4&����		����#%,�- 

PGMHS 13 PGMHS 7 +�������� 8 ������������
����RW%�����A���
����	#� 49.40 �����	
#������
-

���+	���	+�4�' 8�� �������8
�����
�	#'��,�%�� 8�� 1 	
#�������� +���#%,�-���������

�
����RW%�����A���
�%���F'8�9���'�!��#%,�-������ 2 .'
���������	#� 25.48 �����	
#������
-���

+	���	+�4�' 8�� �������8
�����
�	#'��,�%�� 8�� 1 	
#�������� (������ 28) 
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�	����67����
�!/���
��0���)��)��*%���'*��.����	�'����0������	�	�)��)��* 
  

 ��	��	�
����
���-����+�
�
�%����@�8� (Analysis of variance) (8�
����� 10) +�'�

�����F%����
����RW%���������'���+	�� ������+8	8���	#%�
�����%#
�9��#K����@�8�
�������#%,�-

( P � 0.01) .'
����
@+����#%,�-����8���
����RW%�����%+	�� ��	��C% 4 	���� .'
	����+
	

*'�+	������#%,�- PGMHS 12 +��PGMHS 11 ������������
����RW%�����%+	�������' .'
��

����A���
����	#� 21.50 �����	
#������
-���+	���	+�4�' 8�� �������8
�����
�	#'��,�%�� 8�� 1 

	
#�������� 	�������������
����RW%���������A���
����	#� 18.20 �����	
#������
-���+	���	    

+�4�' 8�� �������8
�����
�	#'��,�%�� 8�� 1 	
#�������� *'�+	� �#%,�-������ 2 PGMHS 13     

������ 7 +��PGMHS 3 	���������� ���
����RW%��������8�9� *'�+	��#%,�- PGMHS 17 ������ 8  

PGMHS 7 ������ 1 +�������� 4 ������A���
����	#� 15.76 �����	
#������
-���+	���	+�4�' 8�� 

�������8
�����
�	#'��,�%�� 8�� 1 	
#�������� +��	������'���
������
����RW%�����%+	��

8�9���' �!��#%,�- PGMHS 15 ������A���
����	#� 13.40 �����	
#������
-���+	���	+�4�' 8�� �������8


�����
�	#'��,�%�� 8�� 1 	
#�������� (������ 29) 

 
 
�������� 10 (�����'������"���&)*�*���
��*�'&�#79���'����&�%��!,
���&�0,)��)���

��
��� 

 

�#%,�- �
����RU%�������������'�%���F' 
�
����RU%�������������'�%

+	�� 

  ** ** 

CV% 12.77 13.08 

** = ������+8	8���	#%�
�����%#
�9��#K
�������@�8� (P� 0.01)  
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*���!� !�"#)���!�3����� 4�5	�)��)��* 0���	������	�	����67����
�!/���
 

  

 ��	�
����
���-�����#��#%,-����@�8� (Correlation Analysis) (8�
�����11) 
������

�#	I������!"*
�������� +���
������
�
�	��RW%�����#E���' ����
@+�'������#��#%,-

'#� ������ 30 +����!������
���-�����#��#%,-���8#�+�
����������#��#%,-	#������8 +��8#�+�
���

�#��#%,-	#��
������
�
�	��RW%�����% 8�% �� ���F' +��+	�� ����
@+�'�*'��% ������ 31

+��32 ��	�
����
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��		�
����
���-�����#��#%,-
�������9�%�%�#%��#����	+��%E9��%#	+���8�%�9��
#�      

	�
�"��%	�
�
�����������
����RW%�����#E���'�%8�%���� ����
@�"�	�
����
���-

�����#��#%,-.'
	�
�"� Multiple Regression Analysis ���+8����#%,�- �#E�%�E��!����+�'�

�����#��#%,-�������
@%9����
�����C%	
�R Linear Response Surface 4&����	�
����
���-��+�'�

8#��
���*���9��
#��#%,�-������1 �9��
#� 11 �#%,�-������!�*'�+�'�*���%����%�	 � (8�
����� 12) 

����
@+�'������#��#%,-�"���@�8�'#�+�'��%+���9���� (Empirical Model) '#�%�E 

 

Z = 27.4341 - 0.2604*x + 0.5447*y 

 

.'
��� Z ��C%����
����RW%���	�#E���'�%8�%; X ��C%����9�%�%�#%��#����	; +�� Y ��C%���         

%E9��%#	+���8�% 

 

��	����� 12 ��	�
����
���-�����#��#%,- (Multiple Regression Analysis) 
�������9�%�%�#%��#�

���	 %E9��%#	+���8�%+���
������
�
�	��RW%�����#E���'�%8�% 

Regression Summary for Dependent Variable: Stem_phe  

R= .95142243 R? = .90520465 Adjusted R? = .84200774  

F (2, 3 ) = 14.324 p<.02919 Std.Error of estimate: .99646 

  Std.Err.of  Std.Err.of   

N6 Beta Beta B B t(3) p-value 

Intercept   27.43405 1.398779 19.61286 0.000290 

DAP -2.69169 0.533106 -0.26035 0.051564 -5.04906 0.014986 

Stem_wt 2.85334 0.533106 0.54473 0.101775 5.35229 0.012758 

 

 ���&��&��� "�������
������������*�%� ��������)������)��*�'&�#���*�����           

79���'������&,���6,�
��)��
�����
������  ��&��.���&�������*/����7 Linear Response Surface 

,��)�,���$����� 33 
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������ 33 	
�R Linear Response Surface ���+�'������#��#%,-
�������9�%�%�#%��#����	      
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����
���-�����#��#%,-.'
	�
�"� Multiple Regression Analysis ���+8����#%,�- �#E�%�E��!����+�'�

�����#��#%,-�������
@%9����
�����C%	
�R Linear Response Surface 4&����	�
����
���-��+�'�

8#��
���*���9��
#��#%,�- ������1 �9��
#� 11 �#%,�-������!�*'�+�'�*���%����%�	 � (8�
����� 13) 

����
@+�'������#��#%,-�"���@�8�'#�+�'��%+���9���� (Empirical Model) '#�%�E 

 

Z = 42.737 + 2.4516*x – 6.0881*y 

 

.'
��� Z ��C%����
����RW%���	�#E���'�%��; X ��C%����9�%�%�#%��#����	; +�� Y ��C%���    

%E9��%#	+����� 

 

�������� 13 (�����'������"���&��&��� " (Multiple Regression Analysis) �������
������������
*�%� ��������)�����)��*�'&�#���*�����79���'������&,���� 

 

Regression Summary for Dependent Variable: Leaf_phe  

R= .84986530 R? = .72227103 Adjusted R? = .53711838  

F (2, 3) = 3.9009 p<.14636 Std.Error of estimate: 11.594 

  Std.Err.of  Std.Err.of   

N6 Beta Beta B B t(3) p-value 

Intercept   42.73701 20.20225 2.11546 0.124719 

DAP 3.72875 1.383093 2.45160 0.90937 2.69595 0.074040 

Leaf_wt -3.41511 1.383093 -6.08813 2.46564 -2.46918 0.090130 
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